4 | 3 V% 2 1
NOTE 7
- 2 49 [63,20] —— PVC COATING, BLACK
IP66 MOISTURE RESISTANCE 031 [7.871

2.21 [£36.04] —

) (@@

MNF G, ID MARK ‘—\

LOCKWASHER, 1 PER STUD, NOTE S

9 3

THIS KEPS NUT (2PLS> IS

. T
| 0
| | f '
l | 0.69 [17.46]
| e !
2.52 [64.00] |
| 138 [34.93]
B | *
- W
7 TA—— BRACKET PRIMED HERE AND ALL
( ) LOCK NUTS FOR PVC ADHESION.
N\ Y
=" CASE, CAP AND BRACKET: STEEL

TIGHTENED AT THE FACTORY Y
TO THE PROPER SPECS AND

MUST NOT BE LOOSENED OR

REMOVED UNDER ANY CIRCUMSTANCES.
REMOVING DR LOOSENING THIS NUT
WILL CAUSE PRODUCT TO MALFUNCTION.
SEE NOTE 8

HEX NUT, #10-32,
1 PER STUD, NOTE 3

HEX NUT, 3/16-24,

10-32 KEPS NUT <2PLS

~—-— 01,83 [46.48] —»

2 REQ'D, NOTE S -
< ‘(\ERSQ\ SEE NOTE 8
© ! o
O O
‘—-— —— e
-5 _&_ ;
NOTES:
1, ALL STEEL PARTS PLATED.
112 [28.44] SCHEMATIC 2. ALL DIMENSIONS ARE REFERENCE ONLY UNLESS OTHERWISE SPECIFIED
' ' 3. ELECT. RATING: 200A @ 12Vdc, CONTINUOUS, COIL RESISTANCE: 17.5 OHMS,
5 4, MAX TORQUE FOR CUSTOMER APPLIED NUTS TO BE: #10-32= 15 IN-LBS
(1.69 Nm); 5/16-24= 35 IN-LBS (395 Nmd
.LOCKWASHER, 5. HARDWARE WILL BE BAGGED AND SHIPPED LOOSE.
S 312 [79.24] _____>‘ 2 REQ’'D, 3 6. ALL CONTACTS ARE SILVER LAMINATED,
! ' ' NOTE 5 —glo—4 7. PART NUMBER, DATE CODE & VOLTAGE INK STAMPED ON BOTTOM 0OF SOLENOID.
» . 1 8. 5/16 AND 10-32 KEPS NUTS MUST NEVER BE REMOVED 0OR LOOSENED.
— 3.34 [84.84) P THEY ARE FACTORY-TORQUED TO PROPER SPECS.
Revision Control Record Rev.|  DescriptionofChange  |ECNNo.| Date | fSiSihetie heisan immmancess oo e A Nng. and the N r— € Cole Flersee Co.
Rev. Description of Change ECNNo. | Date ﬁ-%laocze"s fl-p(I)aOcOe5s" All,glill_ar ;)"rfoo;;'i‘:tt;?; t°°°3§f}'e"|‘.’.2,222e'“’ s @Safety and/or Regulat,ory Corr?pliance ® ;2:(;,,?;Ig1(;?;:22/1\;:'\’Nse?;:m_s::;’hrge:z::;
e e i fe‘fm,';',%'l,ycggdo'}‘?,‘,’ :,?t :,’fhgi,sv‘f,';’s""' Significant Characteristic relating to D iption:
A NEW NUMBER RELEASE 11200 6/2711 Metric: Shown in [] refers to equivalent English Dim Tol t,a‘,’,sfe"ed 6,_- commt}’nicated toyany E(]ProcessControl Descripltion:
TR oran stk () —on Taerncer Setnce |0 R Vghoant of an authorized Control Dimension relating o Form - SOLENOID, N/O, 12V
NOTE: All tolerances are Non-Cumulative. iepresentative of Cals Herses Hler-se:nccolr?1n i eltl;/e thy Coet 3
Company. pany andior the Lustomer | prawing / Current Rev.
FORM CHT-6 207) |"S°49" 5 1143.03 Scale: 1:1 g;a:“’g,,\uguste g‘:;svn: 6127/11|Pg. 1 of 1 Part No.; 24213'03 A
4 3 JiN 2 l 1




